G R (GEEEAR AKEKH) AT E
B H g KBS FBRAE 4J114H 5 19H 6H9H THTH 8H12H Fe KAl /Ml P
X " C ) 12.8 19.0 20.7 25.2 28.1 28.1 12.8 21.2
— & M W (E % /m) =100 0 0 2 0 0 2 2 0 1
K W il AR AR At AR AR A A AR A
ARITAKEOZEDONAED =0.003 0.0003 < < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — — < < <
Ly RO EOIED =0.01 0.001 < < < < < < < <
h kK O £ o b & B =0.01 0.001 0.001 0.001 0.001 < 0.002 0.002 < <
" b F K O ZET 0 kLAY =0.01 0.001 < < < < < < < <
AN fli 7 v A &b A& B =0.02 0.001 < < < < < < < <
o M o = & =0.04 0.004 < < < < < < < <
T A A v R N ALY T =0.01 0.001 — — < — — < < <
3 EE ARG ST =10 0.10 0.29 0.20 0.28 0.24 0.30 0.30 0.20 0.26
7 v E K X ZT 0Ok E Y =0.8 0.05 0.09 0.09 0.10 0.11 0.12 0.12 0.09 0.10
AU FE K O®EOMLAED =1.0 0.1 < 0.1 0.1 0.2 0.2 0.2 < 0.1
] bo 1t R ES =0.002 0.0002 < < < < < < < <
3 L4 v 4 % H v <0.05 0.005 < < < < < < < <
S Z-1,2-Y ez F LY ROV Z-1,2-Y/aaxF Ly =0.04 0.004 < < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < < <
F N% Z muw x FL v =0.01 0.001 < < < < < < < <
KY 7 B oo o F L v =<0.01 0.001 < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < <
H ES 23 =0.6 0.06 — — < < — < < <
> 7 s S 3 =0.02 0.002 = = < = = < < <
s m wm K N A =0.06 0.001 0.002 0.004 0.006 0.008 0.007 0.008 0.002 0.006
Yy 7 m o [ B =0.03 0.002 — — < — — < < <
Y 7 m ® s uowu AL v =0.1 0.001 0.004 0.005 0.006 0.008 0.009 0.009 0.004 0.006
= ES 3 =0.01 0.001 — — < — — < < <
-3 NI RN S S Y =0.1 0.001 0.011 0.015 0.020 0.026 0.027 0.027 0.011 0.020
Y 7 B B OB =0.03 0.002 — — 0.004 — — 0.004 0.004 0.004
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.003 0.004 0.006 0.007 0.007 0.007 0.003 0.005
* 7 v E K L A =0.09 0.001 0.002 0.002 0.002 0.003 0.004 0.004 0.002 0.003
A v A T L F B R =0.08 0.005 — — < — -— < < <
o kK 2 ot A& DY =1.0 0.01 0.04 0.04 0.05 0.03 0.03 0.05 0.03 0.04
TNAHNIZU LR OZOED =0.2 0.01 < < 0.01 0.01 0.01 0.01 < <
% kK O £ o & & B =0.3 0.01 < < < < < < < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < < <
FThrID AR OCZDONREDY =200 1.0 18.8 20.8 21.8 24.2 26.0 26.0 18.8 22.3
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < < <
W ot ®m 14 F v =200 1.0 16.8 16.8 17.6 19.0 20.1 20.1 16.8 18.0
HNT TN T IRy NE(H ) =300 1 34 36 39 42 46 46 34 40
& B 7% I L] =500 1 100 104 92 102 122 122 92 104
fz2 4 A4 v R om & A =0.2 0.02 — — < — — < < <
Y = F A I v =0.00001 | 0.000001 < < < < 0.000002 0.000002 < <
- A F N AV K L x A — L[ £0.00001 | 0.000001 < < < < < < < <
H E O R T TR - | =0.02 0.005 — — < — — < < <
7 = J — L H =0.005 0.0005 — — < — — < < <
Y% (& A R ETOC &) <3 0.3 < < < < 0.3 0.3 < <
pH fil 5.8~8.6 7.2 7.3 7.3 7.4 7.4 7.4 7.2 7.3
S HETROD RERL | RBERL | REARL | ZERL | BEAL REL | BERL | BREAL
= kS HHE TR L | REARL | RERL | BERL | REARL L | RERL | RERL
&) EOC E ) =5 0.5 < < < < < < < <
) o E ) =2 0.2 < < < < < < < <
7% % i ES =0.1 0.1 0.3 0.2 0.1 0.2 0.1 0.3 0.1 0.2
"ot A 1% )
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